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1. f(x)=2x*-x-3
(1 f(x)
X -4 | 3| -2 -1 0 1 3 4
F(X) 3|18 7| 0] 3]-=2 12 | 25
(1) f(x) —4<x<4
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f(x)=2x>-x-3
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(a) (i) x = -3 f(x)
(ii) Xx = 2.5 f(x)
(iii) x = 3.7 f(x)
(iv) X =6 f(x)
(b) v
X
X=-3
Xx=25
x=37
X=6
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(c)

2. T

T(N+2)=T(N)+T(n+12),

{T(l) =T(2)=1
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(iii)

(b) (i)

11 12 13

41 42
43 44 45
(a)

v

11 12 13

41 42
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0<x<8 0<y<8

2.1
X 0 1 4
y 0 1 4
2.2
X 0 1 4
y 0 1 4
2.3
X 0 1 4
y 0 1 5
2.4
X 0 1 4
y 0 1 4
2.5
X 0 1 4
y 0 1 8
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0<x<8

(a y x
(b) x vy

2.1

2.2

2.3

2.4

2.5
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(a) y=2x+1,

(b)  y=x%+3,

(c) y? =x*+3,

(d)  y®=x*—-x+5.
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1 40
2 40-60
2. 1
1. (a)
X -3 2.5 3.7 6
f(X) 18 7 20.68 63
20
(b)
X
X=-3 v v v
x=25 v v
Xx=37 v v
X=6 v
(c)
(i)
(i)
(iii)
X
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(iv) X =6

X
X =6
2.(a)
n [11| 12 | 13 41 42 43 44 45
T(n) | 89 | 144 | 233 | 165580141 | 267914296 | 433494437 | 701408733 | 1134903170
2.(b) (i)
11 12 13 v
41 42 v
43 44 45 4 v
2.(b)(i1)
. 11 12 13
TN+2)=T(n)+T(n+1) 11 12
13
. 41 42
41 42
. 43 44 45
(b) i 41 42
43 44 45
3.
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4. 1 2
TM)=T(2) =1

TE=TO+T(2) =1+1=2
TA)=TQ)+T@) =1+2=3

5. 1 2
T(N+2)=T(n)+T(n+2)

t?—t-1=
1+\@ l—\@
2 2

T(n) = A{1+ \/3] N B(l—\/gj

2 2

A B A B

1 1
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10. 2 2 3

2. (a)
X 2X+3 y
y X
(b)
X x> +3 y
y X
(c)
X x> +3
a y’=a a
y x=1 y?=1+3=4 y +2 -2
X y y X
(d)
X x> —Xx+5
a y’=a vy y X
3 3.1 vy X X=4
3.2y X
3.3 Yy X X 4 x=8
X y
3.4 vy X
11. 3 3.3 3.4
X 113 y X ”
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